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[ D C | B | A Questmns / -.'.-.Ulr A
| = G T NG [ e
I 4, | oEp G ad/Fogsl 1
L Vplof:fn_t_y____ __}«_\.?_vel?nglh N Fre_qucncy ~ Energy Waves transfer: ! |
331ms~! 2ims! | 376ms-! 386ms-! by dElg 0°C it ' 2
T R B Speed of sound in air at 0°C is: RPN B
! I j U L= | i
| 2.5x108ms™! | 2.0x108ms™! | 2.3x108ms~! | 3.0x108ms"! M Giardy| 3 !
L | The speed of light in water is approximately: - ‘
! X Ao ek 3 ey SIEn A 4 |
[ Decibel Diopter Volt Hertz The S1 unit of power of lens is: :
| & -
LoIx1072F | Ix1079F 1x10-6F 1x10-3F %ﬂdﬁ'mchﬁ -
s i |Onemicro farad is equal to: oo 1|~ L
o i de Irc,gf.suu';wJu}Zc_;iga_ )" 2l 6
L‘f"u‘ Py U0 s r_.dnur o bl
. T T What happens to the e t'xd/tfr..yj&;
Cannot be Remains the
codicted same Decreases Increases intensity of brightness of the lamps connected in
,_Wp__ - \ - | ____|series as more and more lamps are added? b
[ 1! iC NC NC-! ‘etiy Sl K...»”f’d’u 7
! JJ’fdkaL; quT’(J/{'{J ’ré)”‘-'-’ft)f ; 3"':4"/(-‘-'-:0! S W’r;_;if;.- | 8
grkl PNy &Ll ' &bz The step-up transformer: |

' Has fess turns in

| lhe secondary coil |

has more turns in
the primary coil

Increases the
input voltage

Increases the
input current

___parts. |

The SI unit of emf is: i ]
]
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[ - Cathode-ray oscilloscope consists of

| : [ i 3 T TR et oA ——

| A=1_B=1 | A=0.B=0 A=0.B=1 'E fA=1.B=0 lT-\}.l‘Loﬂ | u-{__..d!'d’\—f”/LLfﬁ-./___L,!JJi 10
- S— P . The output of a two-input NOR gate: is't’ when: 1 _

i Lo ;;_',‘( bl I S ‘-b’_?é/fb;.u{ﬁzﬁ:lJC);?"i 11
! From which we can get information almost about |

! Internet Computer Teacher Books everything:

| &L GSL | e a2 L) | Lt | il P et/ oL 5L J’J{,m 12

1
| Chemical reaction

Burning of gases

Nuclear fusion

Nuclear fission

Release of energy by the sun is due to:
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( Part-1 Jil4das )

Write short answers to any FIVE parts, -é_.wf-‘z.,méu—_df
JKVJJJA/ U;_,f),[,/LLJ'J’L.LvdJ/LfQJdLJL,{HJMvV/f (i)
If the length of a simple pendulum is doubled, what will be the change in its time period?
-E S i)
S Sy i
Sesl e by (iv)
?i;.t:‘)l_zu_“.}d/ﬂ:f:ﬂu‘g??d (v)

~E IS 312 (vi)
‘a.:s/'Ja,,}J‘_s (vii)
_é._ﬂf/‘{fu J-f;_, {(viii)

_éu er/‘-"&lflél.c.,d)’
Wy S Y S U’/ (0)

S u,#t_wﬁf._md'wvi_e )
@yl AT i)
What is meant by procedures in (CBIS)? ‘-'g:‘/t_;@..z(@)ﬁ (CBIS)  (iv)
What is computer? e id ()
L.J vu.._fr ;Ln'w'-@{" (vi)

_&J/V;,.W;J (vii)

.......,..a/’ ,Jff'g:c (viii)
-J_,Liiﬂ""zi,métc.df

Q=7 B C= 100UF 2 V = 50v /J (1)
? B\ -gf_“(f_awv“?nup;du’vbfﬁxﬂ (ii)
PolEX ,V_,é_\?\:_e,!u::_,ll_,(.-,-'.:bﬁ'w[;’!_ft" {iii)
..2.6-..".!._9"E’V”Jsf._if:‘...._i_-{/'.’.d’vcf.':_',v‘:,;gl (iv)

S SRy IS 1000 (v)

E e S p e S i)

‘e JAVUE DAC o ADC  (vii)

CE L e o Al X=ALB I LuT (i)

How can you compare the logic operation X = A . B with usual operation of multiplication?

A 09 Ly o fe izl e e 35 @i das

Part - II, Attempt any TWO questions. Each question carries 09 marks.
Eeoln U 2 ot il SN ()

State the laws of reflection of light. Also explain the types of reflection.

2 7 -1 ] s ? i | Z b

ge=10ms™ zgm=ge/6 /| ?Jﬂﬁ_{‘ QH{)QOH}@;JI ?uﬁgdkf{;yf}dlu”g.ME._»;,C—.-(’IJB/,)»:;UV (=)

The time period of simple pendulum is 2s. What will be its length on the earth? What will be its

length on the moon if gm = ge/6 where ge =10ms™

Describe briefly the hazards of household electricity. a‘:‘..-? Lb:i/‘?iJ’ WZ. H}ai},ﬁ" ()

-ErPedties cond &y bl 0.1m hla...».»_w;Jd § 08N pnd 2kl ()
The force of repulsion between two |dcnt|cal charges is 0. 8N. when the charges are 0.1 m apart.
Find the value of each charge.

Define restoring force.

Define diffraction of waves.

What is meant by SONAR?

What is the difference between the loudness and the intensity of sound?
State Faraday's law of electromagnetic induction.

What is meant by A.C. generator?

Define the term mutual induction.

Write short answers to any FIVE parts.

What is the difference between principal focus and focal length?

What is the difference between converging lens and diverging lens?

Write two uses of compound microscope.

What is the difference between magnetic disk and hard disk?
Define penetrating power.

Deline nuclear fusion.

Write short answers to any FIVE parts.

IV = 50v and C = 100uF, then Q = 2 ;

Write any two characteristics of parallel ¢

What do you know about electrostatic air cleaner?

Define electromotive force and write its unit.

Convert 1000 watt hour energy into Joules unit.

Write the importance of fuse in house hold electric circuit.
What is the difference between ADC and DAC?

& beAbko S AN G 1 g ()
What are the three universal logic gates? Give their symbols. _

2 bos QL LB IS 26— JI-5.25 5008 60-2LE 1k (L)
Cobalt-60 is a radioactive element with half-life of 5.25 years. What fraction of the original sample
will be left after 26 years? '
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c-d}&ﬁi):?b.w&'ik&:vmyua.gf u:}béé,)'d.bﬁdlr/:{db/dlﬁ -q?ﬁ:f;.JD » C«<B sA:ublﬂ;nE«LpLJfr/; /-:‘Ul,r
e NG St §E SIS s e L 4| 1
D c ; B A @1 ¢, ,. Questions / = Uy ! K
T | 1 \1\7“]\'& ) _,!v{-}"l' ) _7 "b’b' £ | !
so L a0 | 30 Ny e R 1|
i | & 20 | The temperatuie a %t&r of the sun in nearly i i
! {million Kelvin. i |
; ! ps . ————
| L L LA ) 2
E 4 l 6 8 | How many metal rods in radio station transmission | I
s ! ‘antenna are? i
. ; N ——— SV (SN
! LY ?
X=AB | x-A | X=A-B | X=A+B e abladdi T (AND) 3
- | ] _Equation of AND operation is: S
Sodium | Phosphorus iron Zinc | The screen of CRO consists of material called: ,
Fufbe | P | Faufen | o ‘e DAL oIS 5 |
! Charge | Momentin Encyy Micsd Lenz's law is a manifestation afth;: law of: t-
|_conservation | conservation | conservation | conservation | 7T 7T T T e ]
Y s i &y Sy STEANE SO Sl s Ao 6|
Kilo watt hour | Mega watt hour | Sirhone Watt  The electric meter installed in our houses measures fe Ll !
| the consumption of electric energy in the units of: !
| N i . L !
,- ' JrA=Im? pL=Im_>c R= '3\— U] 7|
R #p R=p | R<p | R>p | j .L ! f
! | 3 P | f
I I’ | 1f we put L=Im gnd A=1Im? jn R:_A—lhcn: i |
_.b/* o, % - - "‘I"""' .._.___ - ..;_T.._.... I. - ..‘.‘_. ,;- [T — - R - = = i - l
Sz ST 7 Ful | e b Pl B 8
Geometric Magnetic ' Electric Gravitational lA strong field lies in Farady cage: :
H i 1 ol - B |
Su i | oA Sz i L el ey 9
: iLight rays are reflected in a plane mirror, causing us to i
Erect | Inverted Smaller Larger {see image: i
Sgpti | S Ca% el et AT 10 |
Total internal Diffraction Refraction Reflection | Optical fibers work on the principle of?
reflection .
i b - A TR W)
L vr ﬂb ut-/'g‘ *.'cl_(b'J}Uu./u,-v i1
Chemical Thermal Mechanical Electrical Which form of energy is sound?
L T Y T o ol e L ré e P L g onky | 12
| | —— = The part of a wave, where the particles of medium are |
; Wavelength | Wavefront Trough Crest highest from the mean position is called: |
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(Part-1 Jyl4das )

Write short answers to any FIVE parts. -é«;;fﬁ/&zﬁlmgtcdf
Define longitudinal waves. _éh@}&gs;j}é:g’ (i)

P TEN D e 1998 Ladehia LS iy
If the time period of simple pendulum is 1.99S. then find the frequency of the pendulum.
o ?‘L)'/Qf:_.)gsg_fn)“} (iii)
-S54 iy

What is meant by transverse waves?

Detine the loudness of sound.

What is meant by echo of sound? ' '?.f_ :yga.,f-d};u (v}
State Fleming’s left hand rule. - *éuydﬂlfa’ggf/wﬁ (vi)
Define A.C. generator. -é4ﬂ!ﬁﬂ/\.(ﬁ_ (vii)
What do you mean by electromagnet? ?q'.-JVLfc. \.rr;"/g (viii)
Write short answers to any FIVE parts. -é@ Lfﬁﬁyﬁrleéta.af
State laws of reflection of light. _.;__f_:ulgwflf.«.’: Qﬁw}u”é; (i)
Define total internal reflection. -&F‘_MJJ‘?”ZJ,!J} {ii)
What is bronchoscope? e L‘Tl"ﬂf..;_.rd)‘:/: (iii)
Enlist the components of computer based information system. _g_-'-'_// ;/ij;:Z(L’ﬂwik)g{ (iv)
What do you mean by word processing? Ce sl _L»'/c-_. _.f'ir;{ sur (V)
Write two advantages of e-mail, _9{57’;’?;’»{.;}:& (vi)

-gf‘:d_/f[-‘t£u§l;rj‘r£gau;fg (vii)
Who discovered radioactivity? ?J;EEJ;LJ&;{%; (viii)
Write short answers to any FIVE parts. _dal,rzﬂ?&.lzféga.‘j/
How can we identify conductor or insulator with the help of electroscope? ?ugébﬁé:;@*-!#i L }&f.@;u&?:ﬁs}g' (i)
What is the effect of distance ¢.1 Coulomb force? ‘.'ci;_}il_fi;‘?.‘; G{L,G;’._Jf (i)
S SeS g 3 S Gin
‘I ALGENFL (iv)
Sy SRS
O LS BT Sl (i)
Sepe g Fomtub (i
- WO/t (DAC) 288 et s J%5.0 (ADC) 25 JF35 et (viih)
Differentiate between ADC (analogue to digital converter) and DAC (digital to analogue converter).
A 09 Ly -2y Felind e e §f (@393 ditas
Part - II, Attempt any TWO questions. Each question carries 09 marks.
Describe the nearsightedness and farsightedness of vision. _éugg_:’}’:gbsrd ._¢;T (<)
Cr b Lo SE el 1.5Km <! -& 35cm Eg;gsz}l 2KHz d:";-(/";,(g"sﬁilfu_ﬁ (&)
A sound wave has a frequency of 2KHz and wavelength 35cm. How long will it take to travel 1.5Km?
%32.;&,5;){@:&'5.pf/}_ﬂg‘_—'yw;‘}:‘{fau}l&w»;.y ()
Explain in detail any two safety measures that should be taken in connection with household circuit.
S L Zel-e-0.5m .Loujgmg:wz;guiu_g.loopc 231 500pC e ZieHeeaty (&)
Two bodies are oppositely charged with S00uC and 100uC charge. Find the force between the two

charges if the distance between them in air is 0.5m.
Z & Py
..ﬂéd_lg:{)’&@’o‘s}gfi.ﬁg//]”;;f?’fs' ()
Considering oscilloscope, describe the working of the electron gun with control grid.
-G P NNEB T ot ARSI A 25 L L s S (L)
The activity of a sample of radioactive bismuth decreases to one-eight of its original activity in 15
days. Calculate the half-life of the sample. -
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Write the rames of isotopes of hydrogen.

Define fixed capacitor and give its examples.

What is the difference between cell and battery?

Write the ST unit of potential difference and define it
Difterentiate between direct current and alternating current,

What is meant by fluorescent screen?

<2

-3

-4

-6

B T




